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ral Instructions :
(i)  All questions are compulsory.

(ii)  Question numbers 1 to 10 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii) Question numbers 11 to 20 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Question numbers 21 to 30 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Question numbers 31 to 35 are of six marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 35 is based on Map. Write the answer in your Answer-Book.
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Fill in the blanks with appropriate words :

First Gulf War was fought against in which troops from
countries fought.

‘T T RN 3§ ? 1
What does the word ‘hegemony’ imply ?
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TR T GO IR & S ST JS 39 T 51 A i o faw 94 1 @ |
Correct the following statement and rewrite :

Eight temporary members of the U.N. Security Council are elected by the General
Assembly for a period of three years.

T T T Fared HEHAT FT FEedm 8 ? 1

What is the highest functionary of the U.N. called ?

TS YIS 3TART i [AIE 1 3TER 3747 o7 2 1

What was the basis of the report of the States Reorganisation Commission ?
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fopa I & i T A | B U A 415 W St 2 ST GHT THFHA DI ST 2 ‘;-+-;~=1
In which year did the Congress Party win 415 seats in the Lok Sabha ? Who became
the Prime Minster then ?

; 1.1
frefefaa AR o Aaret gry few e 2 E+E=1
(i) & &M, 519 feae
(i) TR gera
Name the leaders who gave the following slogans :

(1) Jai Jawan, Jai Kisan

(i) Garibi Hatao

TEHATEY AfedT § A-HUTATE % T H B 9N Y1 7eh 1547 2 1

Which theoretical argument did Rammanohar Lohia give in defence of non-

Congressism ?

aTel faiet Stiier /T ar 2 1

What was the Anti-Arrack Movement ?

HTEF RE F fovg el & aw gemell 1 Seoi@ FIT St dishas & e @ad

g1 | LI
2 2

Mention any two incidents of violence against the minority community which are a

threat to democracy ?

iferaa TTtfereh Homet! i foh=2i a1 feretaansti &1 Seeia ity | 2x1=2

Mention any two characteristics of the Soviet Political System. ;

At § g1 7€ 9% fha o oo FotaT W@ ? 98 8 g5 e THI 3T ? 1+1=2

For how many years did the Civil War continue in Tajikistan ? When did it come to
an end ?
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U G F S H T T FH & 37 % 9RE (9aRi % 90 1 51 76w ¢ 2 2x1=2
In the European Union Flag, what does the symbol of ‘twelve gold stars in a circle’

signify ?

ezl foeted & STIRYT ST ER “STRYH THRRATeE e -1 41 2 2

What was the ‘Operation Infinite Reach’ ordered by President Clinton ?

AYAIHIT & T2l &I TSI GROTHT T ST BT | 2x1=2

Mention any two political consequences of globalisation.

AT % TR 1S, RA % GHET 37T 6wl & gl 1 Seeid iy | 2x1=2

Mention any two challenges that India faced just after Independence.

I & et el |, ST o | sfeanidl SR waereieRl & fFE R s g 2 2

What were the fears of tribal population of Orissa and environmentalists about
setting up industries in the tribal districts ?

¥iid g & IR HRA A1 @Hl § | fordt ot ue % are wimfera i 1@t gai 2 2

Why did India not join either of the two camps during the Cold War ?

THR G G 41t gam & e, YRerg foeam gfge 7 59 srareat o @y o, s
# Pt = = R H 4x3=

List any four activities conducted by Bharatiya Kisan Union to pressurize the state
for accepting its demands.

1984 | 2004 T HiUG X AT (S1.51.T.) T IS ER-SIT B SEeTal IRGTA BT &7 2 2

What was the change in the electoral performance of the Congress Party and BJP
from 1984-2004 ?



21. Te-FRue sticior & fol <t SRt & AW fafan | wem e R srie fray amer
&1 o= RenT bt uRforf o 2 1+3=4

Name any two founders of Non-Aligned Movement (NAM). The first NAM summit
was (he culmination of which three factors ?

22, “gRoT uivrEn | withds % Hel-Set Repre % aren gieior TRTEE <9 i ST, i
T ST THRT Tt & | SATAT HitwT | 4

‘Despite the mixed record of democratic experience, the people of all the countries of
South Asia share the aspirations of democracy.” Explain.

23. WgE U &I A grf $H % fU 39 Sewaw BW 2005 W GHC MU R AR
FHEH I GEE BT | 4x1=4

List any four steps suggested by the member-states of the U.N. in 2005 in order to
make the United Nations more relevant.

24. R Sl G WEIT % {81 IR bl I WA RET BT | 4x1=4

Explain in brief any four components of India’s security strategy.

25, “dfves Tl 9RT | F1 A 7 2 THH LT & AU e & o e | 2+2=4

What is meant by ‘Global Commons’ ? Suggest any two steps for the protection of
‘Global Commons’.

26. ATETHIUT I YIS fARET | S¥eiehioT 3 fehei ol RN i ST HifT | 1+3=4

Define Globalisation. Explain any three causes of Globalisation.

27. Tr=feiea = g« =i 4x1=4
@) =t o () ST
@) . mereEiEE (i) ST ‘
(M TR = e (i) =
(%) o g (iv) W W wiHfa
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Match the following :

(a) Ch. Charan Singh (i) Industrialisation
(b) P.C. Mahalanobis (ii) Zoning

(c) Bihar Famine (i) Farmers

(d) Varghese Kurien (iv) Milk-Cooperatives

28. fasaa o1 AT w91 ? YRA IR ©iF % §9 I8 T4 H Gug FQ a9 T 9 AT

HIAT | 2+2=4
What was the Tibet issue ? How did it cause tension between India and China ?
Explain.

T ST T HEA FT YIS AT BT 7T F=Teiad ueei & S fafag

() 3T T H Chad qEIel’ Bl UEH Uhe U A hl TgdT qUT SHH A
feafaT |

(i) oA | @ T e AfeEt B 9, T 0 H B TSI g 9 Sy @l
L '

(iii) 9 THE B TG U, A W IS §U AT 51 T 18 2
(iv) T % T % [T SR b WET St e B SSIrR A T § 2
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N LOOK, HE IS TRYING

\ 1o SUBVERT PEMORRCLZD)

CREATE CHROS, GRAB
\POWER - . . - - --

Study the cartoon given above carefully and answer the following questions :

(1) Identify and name the person holding in his hand, the placard ‘Save
Democracy’.

(i1)) In your opinion, the group of five persons belongs to which political party ?

(ii1)) According to the group of five, what are the intentions of the person sitting on
‘Dharna’ ?

(iv) Which issues responsible for the downfall of democracy are highlighted in the
cartoon ?

A FHae gree gienierat & fog, Ty | 29 & = U

ffeafaa wwat % sw fafan - 2+2=4
@n et & Ry R, foer sticiem 1 A9 S e @i a2 wiga 3 9
Td SH 41 9 3@l 2

@) SHS Ao & fF2 < T Rl 1 3o ST |
Note : For Blind Candidates only, in lieu of Question No. 29.
Answer the following questions :

(@) Who accepted the students’ request to lead the Bihar Movement 7 Which
condition did he lay before giving his consent to lead ?

(b) Mention any two main objectives of his movement.
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30. URA § TSSU T TSI ST Ush ol IX e ST 1 TR g3 2 1+3=4
When and why did a long phase of coalition politics begin in India ?

31, % eI 3ok SHERT 1 S HH §AT 2 FHeS (UNCTAD) 7 1972 & 370 Rare o

o1 gt =t weTte T 2 2+4=6
FreraT

fdita fova g % uveq, Wifowd H9 & UF TN S H § WS Sl 9 SR @

RAT DT | 6x1=6

How did the ‘“New International Economic Order’ come into being ? Which reforms

were proposed by UNCTAD in its report in 1972 ?
OR

Explain any six factors which helped the Soviet Union in becoming a Super-Power

after the Second World War.

32. oI vifs & AT | Rl o sTeRiel i sme i | 3x2=6
Har

1962 % 4F § 9RA H AHF WS ol I8! T TRA-9H Tl W IHH JHHITH
IGT G | 1976 T ST 39 % dre peifcrs Tay GHIE & @ | T 1% $R-HR g &
e gl § GUR YE gIT | 1970 % 39 F IS H A H Ao g agell | =@
i # ot 7@ RS qEl H e ARG G5 THE & ¢ [ I SR & 9
Yay QuRA & T e amet & sied w1 adr) @ T | 1981 § 9 faaret ®t @
F & AT araist ot FEar O I H O | 2+1+1+2=6
S fET T SR T EHYES AT B qu fH=faiad 991 % S fafa
() 1962 % GUY % URUTHEEY, YR i Af-e Wed 61 St Uet ?
(i) 9RA 3R = F Ty HR-4R e GeRA T 5T 9
(iii) TR % S °IA B AT A T IR g 7
(iv) i foars %t gerem & fow w9 @ waw e e
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Explain any three constraints on the American power.
OR

The conflict of 1962, in which India suffered military reverses, had long-term
implications for India-China relations. Diplomatic relations between the two
countries were downgraded until 1976. Thereafter, relations between the two
countries began to improve slowly. After the change in China’s political leadership
from the mid to late 1970s, China’s policy became more pragmatic and less
ideological. So it was prepared to put off the settlement of contentious issues while
improving relations with India. A series of talks to resolve the border issue were also
initiated in 1981.

- Study the paragraph given above carefully and answer the following questions :
(i) Why did India suffer military reverses as a result of the conflict of 1962 ?
(ii)) When did the relation between India and China slowly improve ?
(ii1) What was the change in the policy of China in the seventies ?
(iv) Which efforts were made to resolve the border issue between India and China ?

33. WRA™ ASHIGH IRGYE H T I S qeF HIUY B T I W H WelF Hl

I BRI T oA BT | 3x2=6
HdAr

e wifad 1 ot 2 39 fHel < FPReAs T fF=l S THERIHS UROH 1 Seoid

HIT | | 2+2+2=6

Evaluate any three factors that helped the Congress to continue to dominate the
Indian political scenario for almost three decades after independence.

OR

What was Green Revolution ? Mention its any two positive and any two negative
consequences.

34. 1970 % T &% URINE gui |, feu it B WEHRK T AShE IE § GBS el 9
T I AT ST | 6x1=6

Hqar

‘1977 % T & II%, TEelt IR H5 W fouelt qoil S WHR oA |” IH 95T & (Bl O
RO ST TR SIS |

Explain any six factors which led to the popularity of Indira Gandhi’s government in
the early 1970s.

OR

‘The 1977 elections for the first time saw the opposition coming to power at the
centre.” Examine any six reasons for this change.
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35. ST STRICHI A Sl i T TEE hi STHET, ST R foha v fopan 2 6

= T Mg AR & T Y aEeE § e s @), @), ©, @), @ @ @)
TAT T & 1 2004 H g, AHEH F TG % IROTE B SH H @A §Q a9 A & e
THER & YR W, T A1 S Ge0 a4 T Tl A, Feffad difes % w9 H,
3T IR e | feafa :

TS AW MW (AEF) TG & T8

() < TST ST AT gt el A ol 9 i die 9gHa 9 S |
(i) =TT R . G T A Al G GE SgHT | St |
(iii) T T ST AT, F Tl qHT HiS Tgaa 9 Sl | 2+2+2=6
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How have popular movements contributed to the expansion of democracy rather than
causing disruption ?

OR
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In the given political outline map of India, six states have been labelled as @, ,

©, @, ® and ® Keeping in mind, the Lok Sabha Election results of 2004 and

with the help of the information provided below, identify these states. Write their
correct names in your answer book in the following tabular form :

Name of | Alphabet (A to F) | Name of the State
Coalition

(i) Two states where the Left parties won the majority of Lok Sabha seats.
(ii) Two states where the NDA won the majority of Lok Sabha seats.

(iii) Two states where the UPA won the majority of seats in Lok Sabha.
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Atz : Frafafas uv Faw gieds Wafaat F rum s 3s F A w e 2+2+2=6
(3N o TSl % QU AW ffET : () ZWT (@) (i) THELT ({e)
(@) 2004 ¥ foHy TedYT § GIHR S 2 T (6! &1 &I YHUE ol o A1 [Aray |

@ e siiaal & o H@iel & smeor & aR H iy IeHITaE ot R 919 9 HeEd
o 9

Note : The following questions are for Blind Candidates only in lieu of Q. No. 35 :
(a) Write the full forms of the coalitions (i) UPA and (ii) NDA

(b) Which coalition came to power in 2004 ? Name its any two major supporting
parties.

(c) What was the consensus amongst most parties on the issue of reservation of
seats for the backward classes ?




